ﬁ

M2 FEMMNARZOREEERER

(1) ®BRSDE
%@#igaﬂ%éntx<g%@%>woe VIR E 2+ A
ORETHY. BUANDE L K RI0% E BT < iR
<.
EETEORLEEAIEEL MBS oA TEY, BIEHE£90%
DL B ILT0%bLE & =R CINET,

]d

¢ @ E B N H S W LB LEEETRBDEESR N ERLEDER
SR LN LN R AL

2 i " BT L

i # )

(2) BHBE

NARZZZEDS>E, FRMIBELHTEINT-A (BERBRKRE)
DEETHY, RETRRONZENEYIHKOINATNIAEHRD
BB THE EMD, EAMICIHENANZE LMEETT,
REIE3. 0% UTESNTVETS, MDREINZNHIBTIES
KIGBHTEBHYFET,

ERBRE (%)

e B A B MW F WX =B L E B B DPE X BE B L E R L 2K
E 5 M 0 BB KB B EBB # WL E B EBES S K L H
B v & W N @ @ W B E W B BT BT BT Er HT ET BT BOE E &
A 7 “

KRB ZZE DD IRVHEA T, FRMMEZ RS ANDIGERH D £,




(3) MARRE o )
ﬁ&@%ﬁ$%®56,ﬁhﬁ%ﬁéhtk@ﬂAfﬁ "
THEULGHEETHAZERTELNZRLSEERETHLI LD VD, H
AHIZFEVANLEELIMEETT,
FFAMEIF0.03%LLEE SN TVNET A, BEFEEOCXMEDRLEE
NENWETIHES LGS ELHY ET,

WAFERE(%)

06

0.5

04

03

0.2

0.1

wmon N |

-

B
Frhbmm e

3

atas [

EECh
FHEI
HEH
HEH
fess R
it
by 3
H§ai
HaE
Hipe
By
SRS
HHh

Hagov)
ey

KRB ZZH DD IRWTEA T, FFRMEZREANDILERH D £

(4) IBYEREESE o
BRABELHESLEA (BHERE) 055, KANRRSH
EADEETHY, BETHERL RABRER Snh (BHEHE
BELD T 2HSHERT, ERNCEBLIHLEL LS
T9Y,

HAMEG] %L EEShTONETA, EEEPRENSLEEH
LM TIHE S EbHYET.

[5 4  itE H E (%)
25
20
15
10 B | B |
E B =
5 = | B | E_
— ! EE [ |
..% i BEE =
0 — — = = - 1
@ E B MW EF W E =B LERSD L E£SE B L E R L DR
E B M B oE B KB E B P HE LB KB EBEEH KR DA
Egmmifﬁnﬁimﬁimmgmmmmmmmmmmmgi
1 H iy
MR ZE DOV T, FRMEZRELANDIEGERH Y £,



SH2EE MAARDEESEEE (81 : %)
Ne| THETH | mREBDE ERRE NARRE | BHERGEDE
1 mE™ 95.0 2.3 0.08 3. 31
2 1S P9 100.0 3.9 0 0
3| B 91.7 3.0 0 0
4 WET™ 97.4 2.3 0 0
5| &)™ 89.1 2.2 0 0
6 Be] 3R T 65.5 5.2 0.06 1.19
7 3N 92.3 3.7 0 0
8] =tfm 76.17 2.1 0 0
9 R S ET 70.0 2.7 0 0
10 L RgET 100.0 0.6 0 0
11| AR A4S 100.0 2.6 0 0
12 & FHHET 100.0 1.0 0 0
13| wILET 96. 6 2.1 0.28 10. 34
14 R & #T 0 0 0 0
15 £ Is; BT 100.0 2.7 0.27 10. 00
16 SEIRHT 90.0 3.1 0. 31 10. 00
17( Bi5EHE 90.0 2.5 0 0
18 NG 80.0 1.1 0 0
19 it SHET 100.0 2.5 0 0
20| EE{EHET 96.8 2.1 0 0
21 1 25 BT 88.2 2.1 0 0
22 £ R ET 100.0 1.5 0 0
23| DB EFH 100.0 0.5 0 0
24| A& LHET 76.9 1.6 0.12 1.69
mER 88.2 2.6 0.05 2.00
® E 82.7 2.1 0.06 2.64
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RRZZE=FRIZCEHR/ ERBREH <100
ERRE="ERRBYU/RZRD
NARKRE=NATH>1-&/1&
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